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1. In a loaded beam, the point of contraflexure always occurs at a section

where

(A) bending moment is zero. (B) bending moment changes sign.
(C) shear force is zero. (D) shear force changes sign.

Teh WA 9 H, FAHH oG BHIT 34 i W 34~ BIdT & STal

(A) W@T{Uﬁ@@?ﬂ%l (B) sk 3Tt e sigeran 2 |

(C) 3TUEIY 5 Y BT % | (D) 3I9EUY 51 FIgd Seerar 2 |

The property of a material by virtue of which it can be beaten or rolled into
plates is called

(A) Malleablhty (B) Elasticity (C) Plasticity (D) Ductlhty
geTel T 07 fSTeh ST SH-TGEL H T A1 ST 511 Hehdl &, HagalTd]

(A) JmE@ERddl (B) YRmYdl  (C) wWifesdl (D) d=l

Black cotton soil is unsuitable for foundations because its

(A) Bearing capacity is low

(B) Permeability is uncertain

(C) Particles are cohesive

(D) Property to undergo a volumetric change due to variation of moisture
content

ShIH! ST HET 19 o TTT STIUgeR & Filh

(A) THH! TR0 &l (=T 7 |

(B) gweh! Uramat AHTEa 7 |

(C) 39k U1 TS ¢ |

(D) et 3791 & ftarda o HROT AT T <1 $HehT 07 |

The local swelling of a finished plaster, is termed

(A) Hacking (B) Dubbing (C) Blistering (D) Efflouresence

qiSehd TATECT shi TATHeh ThIfd I HET ST 8 —

(A) gfhm (B) sfesm (C) faeeftn (D) swna=

In the cement, the compound quickest to react with water, is

(A) Tricalcium aluminate (B) Tetra-calcium alumino-ferrite
(C) Dicalcium silicate (D) Tricalcium silicate
Hioee # ST & A1 <rerar | T s aret i § —

(A) TTEhicaay Uelfiae (B) <2I- %ﬁwnﬁgﬁr—ﬁ e
(C) Srshfcaam fafetehe (D)
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6.  The main constituents or chemical composition of fly-ash, is/are

(A) aluminium oxide (B) silica
(C) ferrous oxide (D) All of the above
Y- Y757 o G Teeh T T Ao §/3
(A) UIfufEm e (B) faferem
(C) WH 3NTaTSS (D) 3w o+t
7. In a fillet weld, the weakest section is
(A) Throat of the fillet (B) Smaller side of the fillet
(C) Side parallel to the force (D) Side perpendicular to the force
fthele dog U a8 Uk HavH 3
(A) Thele w1 H3 (B) Thele &t BI @158
(C) & % GHT<H 9SS (D) & o IfeTra |13
8.  Contour interval is

(A) Larger if the time available is more

(B) Directly proportional to the flatness of ground
(C) Larger for accurate works

(D) Inversely proportional to the scale of the map
I 3T § -

(A) S ITTed T 3MH 8 | (B) HGaA <hl HTEdT o U |

(C) Jurd &R & fofw w7 | (D) THfE e 9 o SHATHTT |
9.  There are two stations A and B. Which of the following statements is
correct ?

(A) The fore bearing of AB is AB.

(B) The fore and back bearings of AB differ by 180°.
(C) The back bearing of AB is BA.

(D) All of the above

ARIFAIRBE | AT I AT HIHA TR G ?

(A) AB @1 370 fepu AB # |

(B) AB % 373 Ud 9% fehH™ H 180° 1 3= 7 |

(C) AB 1 uvd fepa BA ® |

(D) 3uerd |eft

10. If the value of Dj, of a soil sample is 6, D is 2 and Dy is 2, then what
would be the co-efficient of uniformity C ?
I Th 7aT UG o Dy &1 M 6 8, Dy, 1 2 8 3R Dy T 2 7, AN THAAMAT
TR C,, 1 BT 9
(A) 3 (B) 2 © 1 (D) 4
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11.

12.

13.

14.

15.

16.

17.

18.

In India, which of the following is adopted as standard recording
rain-gauge ?

(A) Symon’s rain-gauge (B) Weighing bucket type
(C) Natural siphon type (D) Tipping bucket type
Id | T 4 & Tohd W1k Sfrerel! aui-wd} o €9 § TR SI1a1 § ¢
(A) @T3HT aui-uTdt (B) dicTeh ZIfUTeh JehT

©) Hleclof?lch SIERTE R (D) 3o gt JehR

The rocks which are formed due to cooling of magma at a considerable
depth from earth’s surface are called

(A) Igneous rocks (B) Hyper abyssal rocks

(C) Volcanic rocks (D) Plutonic rocks
qwﬁwﬁwﬁmmﬁm%w%@ﬁ%wﬁﬁﬁ 1-44¢H HEATd! @
(A) wﬁaa?;aﬁ (B) 3fafe foracfia EEXAL

(C) SITTgE! TeeH (D) eI =™

Excess of alumina in brick earth makes the brick
(A) To crack and warp on drying  (B) Brittle and weak

(C) To lose cohesion (D) Impermeable
<e foredt Ao <l stfirehar S bl el ® -
(A) FEM W 3heh A ferehd (B) WX 37 HHIR
(C) <ieT HEsH (D) 37U
Intermediate sight distance (ISD) is
HeFerd! 3Heelrehd gl (ISD) &
(A) 2SSD (B) (SSD + OSD)/2
(C) (OSD-SSD)2 (D) 20SD

If angle of internal friction of a soil sample is 30 degree, then the active
earth pressure co-efficient would be

e Toh a1 TGN 1 ST TWu hivr 30 TSIt 7, a1 |fsha e &Tel TUTeh BRT
(A) 2/3 (B) 1/3 ) 1/4 (D) 2/4

A soil sample has a porosity of 40%, find the void ratio.

Tsh a1 Je <l AT 40% &, T 31qama sma i |

(A) 2/3 (B) 1/3 ) 1/4 (D) 1/6

Tie bars are used

(A) along the longitudinal joints (B) across the longitudinal joints
(C) across the transverse joints (D) Both (B) and (C)

T B IR S STt &

(A) e el % HY (B) 3TeH SISl o IR

(C) LTI ST & TR (D) (B) 3R (C) 3w

If liquid limit is 50%, plasticity index is 9%, then find the plastic limit.
Ife ga T 50% 8, ATl gahish 9% &, a1 Wit gt F1d HIfT |
(A) 59% (B) 29.5% (©) 41% (D) 50%
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19.

20.

21.

22,

23.

What about the traffic signals is/are not correct ?

A) Reduce accidents
B) Provide orderly movement of vehicles
C) Flow without safety
D) Only (A) and (C) ]
forret o o o oo W R R/ 7

(A) gHeI= H ]

(B) dTEA! o SGEId Tt JeH Hidl 8 |

(C) o geam & 7

(D) et (A) 3T (C) . .

For plain or rolling terrain, exceptional gradient is

(A) 1in30 (B) 11n20 ((%) 1 in 40 (D) 1in15
THAA 1T AGER - o foTu, Taaries Jaurdi & -

(A) 3071 (B) 2071 (C) 4071 (D) 1571
The purpose of lateral ties in short R.C. column is to

A) Avoid buckling of long bars

B) Increase the load carrying capacity of column
C) Facilitate construction

D) None of these

g R.C. SictH H UTd q 1 S=ASH © -
(A) Tl Bl o RATHTH i T o foTT
(B) hictd shi YR T84 STl 9¢H b 1T
(C) Trmior & gferen = fog

(D) 98 ¥ g T

Which one of following causes raveling in bituminous pavement ?
A) Use of soft bitumen Excessive bitumen content
C) _Low bitumen content_ D) Use of Open graded aggregates

T 8 &M fogut Hefen O foaed wia @ g ¢

(A) T fogme =1 3= (B) At fogrd ao
(C) T TogHa o (D) 3T USS T T TN
Match apparatus with their respective properties as given below :
. Briquette testing machine 1. ompressive strength
B.  Le Chatelier Apparatus 2. Consistency
C.  Vicact Apparatus 3. Soundness
4.  Tensile strength
il U 71T IuhLOTH b1 3eh HraIf=4ra Tt & A ferd hifT ;
A.  Toepe e mefla 1. Oded amed
B. o Smafete Suehto 2. geTadl
C. dI3he IUH] 3. Hele
4. T Gm
A B C
A1 3 2
B)4 3 2
<4 2 3
1 2 3
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24.

25.

26.

27.

28.

What is the slope correction for a length of 15 m along a gradient of 1 in 10 ?

10 H 1 JIUTAT o |1 15 m TS b foTT Jaorar o1 Fene fhaan g ?
(A) 7.5cm (B) 3.75cm (C) 0.75cm (D) 0.075cm

Unit hydrograph theory based on

(A) Time invariance and linear response
(B) Non-linear response and time variance
(C) Time variance and linear response

(D) None of these

TehTeh! STATeTd g 39 W 3TTNA 2

(A) Tu sruiEfdan 3 Wi s

(B) 3N 3R 3R Tm uitafdan

(C) wH uiafedn 3R L@t Frgforan

(D) 9 & IS T&

Damage to concrete from alkali aggregate reaction will normally occur
when

(A) A high moisture level within the concrete.

(B) A cement with high alkali content or another source of alkali.
(C) Aggregate containing an alkali reactive constituents.

(D) All of the above

Ueehat! T STTUTSHAT | hehle i Tha™ ATHT=IG: T8 BT STel

(A) hshle H 3= TH &R BT 2 |

(B) 3= Ugehell atd AT 3T Ueehed] G dTet! HIH< BT & |

(C) Ueshetl TR geehi aATeT A= BT & |

(D) 3uerd |eft

A simply supported beam of length 1 carries a udl (w N per unit length)
over the whole span. The bending moment diagram will be a

(A) Parabola with minimum ordinate at centre of the span.

(B) Parabola with maximum ordinate at the centre of span.

(C) Parabola with maximum ordinates at ends.

(D) None of these

Teh [ TS aTelt SGTated o grgu fodR W a9 foafa wr (Jfd se13 oS
w N) T8 L T 2 | ST e 3T BT —

(A) TR & g W =FaH Hife ITell Weerd

(B) fIar = g W 3TTRIeha hife Tl Tt

(C) Tl ot Frferehem shifel sem waerd

(D) 9 & IS T&

The ratio of bulk modulus to modulus of elasticity for Poisson ratio 0.25
would be
WTET STIATT 0.25 o TIU 3T HTHTeh 3TR TeITEIdl HTdTeh Sl 31T 81T -
(A) 1/3 (B) 2/3 (C) 1/5 (D) 4/3
7 Code No. :C-396/2017/Series-A




29.

30.

31.

32.

33.

34.

A point load 10 kN is acting on the center of simply supported beam having
length 5 metres, then reaction at one of the support reaction will be

(A) SkN (B) 10kN (C) 4kN (D) None of these
5 THieX S ATl BT 9% % ohrg W 10 kN &1 fog WR %R X @1 8, dl
fereht Tk 3T o wiffshan grft -

(A) 5kN (B) 10kN (C) 4kN (D) T A IS &

Which of the following test(s) does not pertain to bitumen testing ?

(A) Flash and fire point test (B) Viscosity test
(C) Penetration test (D) None of these
= 5 9 % o1 o fogma e g amefa 78 8 7

(A) A TE BRE U3 3 (B) foenifrdt ewe
(C) feRM 2w (D) 3 & FFE T
Hydrographic surveys deal with the mapping of

(A) large water bodies (B) canal system
(C) mountaineous region (D) heavenly bodies
STt TS Taequr fopmreh afemr & wrafa 8 7

(A) ¥ fHm (B) & umedt

(C) RIS & (D) @ie fiug

Depending on the chemical composition and mechanical properties, iron
may be classified as

(A) Castiron (B) Wrought iron

(C) Steel (D) All of the above

ETI ek TS ST AT 0T o HTLR W, T8 bl sliehd [T ST Eehell &
(A) eodi dgl (B) fueat g

(C) &I (D) 3w o+t

The zero of the graduated circle of a prismatic compass is located at

(A) Northend (B) Southend (C) Eastend (D) West end
TSl ShFaTH <k STRITTeRd o o1 I & 31T &

(A) SRR (B) s () @R (D) ufvem iR

The water content of soil is defined as the ratio of

(A) weight of water to weight of air in voids.

(B) volume of water to volume of given soil.

(C) volume of water to volume of voids in soil.

(D) weight of the water to the weight of the solids of given mass of soil.
T o AT 1 $oh STIUTT o &9 H TRHTIYA fohal ST &

(A) ST T TR 3R IR K

(B) ST %1 AT TR < TS HT 1 AT

(C) STt o1 3TTa 3T e § e o1 31mIeH

(D) I Sl AR ﬁtg&’r%ﬁm S o 319 T Y

Code No. :C-396/2017/Series-A 8



3S.

36.

37.

38.

39.

Engineer’s unit of force is

(A) Newton in absolute units

(B) Dyne in absolute units

(C) Newton and dyne in absolute units
(D) All of the above

T T S AT &
(A) TuE 9 § = (B) Tuer amreh © SreA
(C) Tueg Ameh § = 3R ST (D) 3l Tt

The angle which an inclined surface makes with the horizontal when a body
placed on it is on the point of moving down, is called

(A) Angle of repose (B) Angle of friction

(C) Angle of inclination (D) None of these

Th A 58 W 9 his T4ug 1 <l AR TfaHH foieg ox 1@ 9iren € i &t

1Y §4 AT ShivT hadATdl &
(A) fagm s (B) =¥UsHir  (C) HEA®U (D) 390 U HIE A4

If the gravitational acceleration at any place is doubled, the weight of a
body, will

(A) be reduced to half (B) be doubled

(C) not be affected (D) None of these
i Ford T W TTecelTd -0 g1 BIdT 2, dl fUUg shi ¥R

(A) T & ST | (B) ST &l ST |
(C) SA9vTferd W | (D) T IS &
Work may be defined as

(A) Force x distance (B) Force x velocity
(C) Force x acceleration (D) None of these
ST I TR feRarm ST Feha 2

(A) Sexgll  (B) SeIxdm  (C) SAxTRA (D) T Y BE T

The condition of equilibrium for any system of forces in a plane is
(A) that polygon of forces must close.

(B) that resultant couple must be zero.

(C) Both (A) and (B)

(D) None of these

THaA | Foreht Srel < e o foTe wmemae i 3rd &

(A) &l 1 9gYS §¢ M1 AN | (B) WO} I S g1 A1 |
(©) (A) 3R (B) TH (D) T B T
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40.

41.

42.

43.

44.

Knowledge of hydrology is necessary for civil engineers for
Designing and construction of 1rrigation structures.
B Des1§mng and construction of bridges and culverts.
C) Flood control works.
D) All of the above

St o foru Ster-fasm < S 3mmaseres 8
(A) %ﬁ%ﬁ%%gﬁ@ﬁﬂﬁﬁsm
(B) 4o ESIES
(C) g == &l % fae

(D) 3T Ot
A runoff river plant is
A) A low head scheme B) A medium head scheme
gC; A high head scheme §D; None of these
TE ITYATE &A= 8
(A) 7S whH| (B) wifsan gg w=hm
(C) BTz &hH (D) T8 | HIg T&

Pavement is said to be flexible if it contains

A) Water bound macadam surface.

B) Stabilised soil base constructed of lime cement or tar.
C) Bitumen-bound stone layer of varying aggregates.

D) All of the above

He(eH (JaH) THI ShedTdl &, I1G 30 gIdT &
(A) SicTeg HepTeH Hag

(B) =1 €= 31¢aT R & ffHa wumi ga7 3an
(C) uitad firetma <t forgaa o1g weer ot

(D) 3uerd |eft

The method of design of flexible pavement as recommended by IRC is
(A) Group index method (B) CBR method

(C) Westerguard method (D) Benkelman beam method
IRC G TA T HefeH i f&ome ughd &

(A) T 3099 Ugfd (B) CBRUgfd

(C) <R=UTE gl (D) S=hetiq &1 g

Traffic surveys are carried out

(A) To know the type of traffic.

(B) To determine the facilities to traffic regulations.
(C) To design proper drainage system.

(D) All of the above

JTATATT Fo&oT fohT STTd &

(A) JTATITA =T bR S o feTu

(B) rarra f=ma o1 glaemd faif e & fore

(C) 3fra frepma yureft fesimga & & forw

(D) 3T Tt

Code No. :C-396/2017/Series-A 10



45.

46.

47.

48.

49.

The ability of a driver to stop the vehicle moving with the designed speed,
depends upon

(A) Perception time (B) Brake reaction time
(C) Efficiency of the brakes (D) All of the above
fESITE =T W IAd 18 bl Ushe <hl TTeToh <hl AT YT Ll & -
(A) HTTH HA R (B) st HfafshaT shiet W
(C) sieh q&TdT W (D) 3ulred Teff
The rate of an item of work depends on
(A) Specifications of works (B) Specifications of materials
(C) Proportion of mortar (D) All of the above

% Ush He S e el et B
(A) w1 & fafrge w (B) wmmft = faficy w
(C) TETeT (TRT) % T W (D) 3IWisa o+t

The plinth area of a building not includes

(A) Area of the walls at the floor level.

(B) Internal shaft for sanitary installations up to 2 sq. m. in area.
(C) Lift and wall including landing.

(D) Area of cantilevered porch.

et STt 35 et &7 3 Tl 1 2

(A) 3 TR W N T &

(B) &fet Tamam % T Jdiies e o1 2 <. i, dh &a%e

(C) ifvem afzd forde 3R daw

(D) hireeiiart T o1 ST

A cement concrete road is 1000 m long, 8 m wide and 15 cm thick over the
sub-base of 10 cm thick gravel. The box cutting in road crust is

T 6 10 cm T IT-ATIR W Th 1000 m aH=ll, 8 m =gl 3R 15 cm A
= hshie & USh 2 | IS YUl H i hidT &
(A) 500 m3 (B) 1000m3>  (C) 1500m3 (D) 2000 m3

For the construction of buildings, the subheads of the estimate are
(A) Earthwork, Concrete work, Brick work

(B) Brick work, Stone work, Roofing

(C) Brick work Flooring, Wood work, Steel work

(D) All of the above

o Tmior < fetu, 3TreRete o 39-3f¥ 8

(A) Tt v, Sshie &, e &

(B) 32 %M, UceR S, B fsha

(C) 2w, B ForaT, The! B, T B

(D) 3T Ot

11 Code No. :C-396/2017/Series-A



50. Pre-tender stage requires
(A) Acquisition of land
(B) Selection of site
(C) Finalisation of alignment of work
(D) All of the above
T-2UST 3Fe o fTT STeersh @
(A) = sfenreot
(B) TIM 1 T
(C) =/ & @yl =1 fafafeea

(D) 3T Ot
51. A lysimeter is used to measure

(A) Infiltration (B) Evapotranspiration

(C) Precipitation (D) None of these

fermreh T o foTu TgSiiveX <t s fopan Sman & 2

(A) I (B) adicEsH  (C) auu (D) 3H € IS &l
52. The estimated time required to perform an activity, is known as

(A) Event (B) Dummy (C) Duration (D) Float

Teh R I s S o folu STawres STETa 99 e

(A) T (B) sHf ©) s (D) e

53. Along a hill road, a side drain is provided on
(A) outer side of a spur curve
(B) outer side of a re-entrant curve
(C) outer side of both (A) and (B)
(D) inner side of l?oth (A) and (B)
JETS] TSeh o ST § UT3d Ted! of STt &
(A) TR T o STEl IIed W
(B) U: YAt ok o STEdl UIvd W
(C) (A) 3R (B) gHi < aadl uwd W
(D) (A) 3T (B) S & ATiieh TIgd T

54. Shear force for a cantilever carrying a uniformly distributed load over its
length, is
(A) Triangle (B) Rectangle (C) Parabola (D) Cubic parabola
FRUT RS O THIGANT WR G8 hid! shimeeiiaR o ToTT STHET0T §c1 BidT &
(A) Brgs (B) 3md (C) waeH™ (D) TFTH e
Code No. :C-396/2017/Series-A 12




5S.

56.

57.

58.

59.

60.

Rich cement mortars are more liable to cracking as compared to lean
mortars because rich mortars have

(A) high shrinkage (B) less strength

(C) Both (A) and (B) (D) None of above

_:ﬁ%dgwm i T | TGl EHH= THTe § g AT AT ], Fifsh Mel Haret o

(A) 3= faged (B) =H @

(C) (A) 3 (B) gt (D) 3Rt | | hIg Tal
The strength and durability of concrete depends upon

(A) size of aggregates (B) grading of aggregates

(C) moisture contents of aggregates (D) All of the above
%ﬂzﬁmﬂ?ﬁ 3R feshraua felt ot 2

(A) THetTe ST 3TTHR W (B) ToaTma =1 Iig W
(C) Tiema & Tt a8 W (D) 3IWied Ot W

Centre of buoyancy always

(A) coincides with the centre of gravity.

(B) coincides with the centroid of the volume of fluid displaced.
(C) remains above the centre of gravity.

(D) remains below the centre of gravity

SCATEhdT hrg, GHITT BT &

(A) g o GuTd
(B) %ﬁﬁﬂﬁ&% AT o hegeh o GUTat

(C) T&cd g oh IH
(D) T g b AT

If L is the length of the member, SL is change in length, ‘e’ is strain and E is
Young’s modulus of elasticity, then the corresponding stress will be

If¢ L 37999 hl T 7, OL TS H UiEdd &, ‘e’ Tohid & 3R E I
JATEIT T[UTTeh &, A Td Ufaeel arm

(A) OL/L (B) oL*E/(L) (C) LE/SL (D) OL/(EL)
The percentage of earth covered by ocean is

TG G STad geaft o1 haerd &

(A) 31% B) 71% (©) 51% (D) 97%
The science and practice of water flow measurement is called

(A) Hypsometry (B) Hydrometeorology

(C) Fluvimetry (D) Hydrometry

STl JTg T o1 T 3R SEgR el o

(A) feemifd (B) BRI

(C) i (D) wTEIE
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61.

62.

63.

64.

65.

Pick up the correct statement from the following :

(A) The zone below the water table is called zone of saturation.

(B) The zone above the water table is called zone of aeration.

(C) The water which exists within the zone of the saturation is called
groundwater.

(D) All of the above

=1 4 1 9t e 1 =IF HifT

(A) W STTE 3 = T &7 I I &1 e & |

(B) ¥ SToT& o ST T &1 R & HEATT & |

(C) 5o 51l |l &3 o ITCL [ &l &, HIH ST ol & |

(D) 3w a+ft

Design of hydrology is necessary for civil engineers for
(A) Designing and construction of irrigation structures.
(B) Designing of culverts and bridges.

(C) Flood control works.

(D) All of the above

Trfaer Sehifr o T gregiatsh 6 festea amavas 2

(A) %ﬂﬁ%ﬁ% |sw§%3jtﬁﬂfwﬁsw

(B) ESIES

(C) % ez e & fotw

(D) Iorer aft

Interception losses are only due to

(A) Evaporation (B) Transpiration

(C) Stream flow (D) None of these
¢ BT Sheled 3Heh hIUT BT &

(A) A= (B) aTSIICHSH

(C) URI-3Et yarg (D) 37 A IS T&

According to Khosla’s theory, the exit gradient in the absence of a
downstream cut-off is

(A) Zero (B) Unity (C) Infinity (D) Very large
Gl o fagid o IR, FTIIETE He-3ATh il Jrquifeta o fia Jaumar g
2

(A) I (B) Thb (C) 3= (D) wEd =l

An ascending gradient of 1 in 50 meets the descending gradient of 1 in 100,
the deviation angle of summit curve will be
(A) 1 in 100 (B) 3in 100 (C) 1in50 (D) None of these

165[3411@%?&%@ 100 § 1 = 3TaUs Ufgu< ¥ fierar 8, 9fRre 9% i

IOITJQ'H °bIU| SI‘II

(A) 10081  (B) 100%3 (C) 50T 1 (D) 370 & IS TEl
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66.

67.

68.

69.

70.

The gas which caused explosion in sewers is

(A) Carbon dioxide (B) Methane

(C) Ammonia (D) Carbon monoxide
9 ST Fa | foehie S1id &t &

(A) I SEITFTSS (B) fud=

(C) i (D) IS TS
The rainfall at any place may be determined by

(A) 1its intensity (B) its direction

(C) its frequency (D) All of the above
Toreht T X i o1 fgior foper ST @

(A) ZEeh ftear @ (B) &t fgam &
(C) 3Hh! T | (D) 3l Tt

Intersection method of detailed plotting is most suitable for

(A) Forests (B) Urban areas (C) Hilly areas (D) Plains
freqa 37ehH shl Sfdeeie Tgid aifeeh 3uged &

(A) =i ferg (B) el &l < ferg

(C) weret &  feru (D) #eri o ferg

In which of the following cases the recommended value of camber will be
maximum

(A) Earthen roads (B) Thin bituminous roads

(C) Water bound macadam (D) Cement concrete pavement

e o 9 fopm fefar & hwar o1 S1HfG W S1feshad g 2

(A) =l TS (B) wael foghHft wes

(C) Sieag HeheH (D) HH= Hshlc Hfem

Prime coat is applied the tack coat and having viscosity

than the tack coat.

(A) before, less (B) after, more (C) after,less (D) before, more

ATESTh HIe U STET ShIc TR ST @ 3R SHH ATHSTh hI shl 37U
T 81 2 |

(A) 98, HH (B) U¥dTd, 3l

(C) ==, A (D) vEd, 3ferh
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71.

72.

73.

74.

75.

Which of the followings come under the definition of highway maintenance ?

(A) Continue to provide convenient and safe traffic facilities.

(B) Avoid detour, speed changes etc.

(C) To preserve the surrounding environment and natural aesthetics so that
the travel by road is pleasant and comfortable.

(D) _All of the above

791 T @ B &1 TS STIRET0T <hl TIATST < 3T=id 37T & 7

(A) AR GlaarsHen 3R FUard Jrarmd giaemd JeH T |

(B) Taht, Tte uftedH 3ATfe =l et

(C) STHIH < FATEX IR ATehideh Hied 1 T Al o TS h gl

I A 3T gl'?alulvwoba‘f |
(D) 3uerd |eft

If both the ends of a column are hinged then the effective length will be
(L 1s length of column)

Ife fepet et o gHI fIR el &, d T9TE THaITs BRfT (L hictd hl o TS 8)
(A) L (B) L2 (C) 2L (D) L3

Bearing capacity of the soil depends upon the

(A) size of the particles

(B) shape of the particles

(C) cohesive properties of the particles
(D) All of the above

&1 <hl U1 &HAT (R L 2
(A) Ul 61 TS (B) ¥hUTH <hl 3TTRId
(C) hUN § TETh U1 (D) 39Ued @+t

Failure of the slope occurs only when total shear force is

(A) equal to the shear strength of the soil

(B) greater than the total shearing strength

(C) less than the total shearing strength

(D) None of these

@TeT W11 391 BIAT & hdldl T8 ol ITTETY] oA &Il &

(A) TET < UV AHS 6 TR (B) oI TV HH H AT

(C) et JITET AT | Y (D) ¥ 9 s &l

The consolidation time for soils

(A) increases with increasing compressibility

(B) decreases with increasing permeability

(C) increases rapidly with increasing size of soil mass
(D) _ All of the above

7T o ToTq T4 1A

(A) TSI G % TY TG R |

(B) WRITRIAT G- o H1Y Tl ¢ |

(C) W& TEfdl T TR T < T1 cfisrl & §eal 2 |

(D) 3uerd |eft
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76.

77.

78.

79.

80.

81.

82.

The ratio of volume of voids to the total volume of soil mass is known as

(A) Porosity (B) Specific gravity
(C) Void ratio (D) Water content
HeT Hald o %ol A | R o 37T 1 3TITT Shgelldl &
(A) &yar (B) fafirse Teca

(C) ffert srguma (D) ST

The inventor of term soil mechanics was

(A) Kray (B) Dr. Karl Terzaghi
(C) Fellenius (D) None of these

G a1 ATTreh! <1 Wistehd! &1

(A) o (B) ST et STATER
(C) ol (D) 0 O His &l
Loess is silty clay formed by the action of

(A) Water (B) Wind (C) Glacier (D) None of these
TAIH, TEHY Hicehl $8eh! TR g0 HiHd Bt &

(A) I (B) a1 (C) TR (D) 37H € IS &l
The most common cause of acidity in water is

(A) Carbon dioxide (B) Oxygen

(C) Hydrogen (D) Nitrogen

ST T STIAAT Sl &T 1T &

(A) T STEITFTSS (B) e

(C) ®TggIeH (D) TEIISH

The phenolic compounds in public water supply should not be more than
S SATY(d ST H HeAlleTeh ATMTeh 6 T4k A& a1 18T

(A) 0.0l ppm (B) 0.001 ppm (C) 0.1 ppm (D) 0.00001 ppm
Which of the following is not a water borne disease ?

(A) Dysentery (B) Cholera (C) Typhoid (D) Malaria

e 5 8 o o1 9t S TR 8 7

(A) ufew (B) & (C) ers®ise (D) waifw@n

The maximum permissible limit for fluoride in drinking water is
(A) 0.1 mg/litre (B) 1.5mg/litre (C) 5 mg/litre (D) None of these
TSI B R SANISE hi JTTerehad 3TIHT | 8

(A) 0.1 mg/eie® (B) 1.5 mg/id (C) 5Smg/eliet (D) 3 & s &
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83.

84.

8S.

86.

87.

88.

The type of valve which allows water to flow in one direction but prevents it
flow in reverse direction is

(A) Reflux valve (B) Sluice valve

(C) Airrelief valve (D) None of these
Wwwsﬁqﬁiﬁwmﬁaﬁéﬁéwmﬁmﬁaﬁ@ﬁw%
(A) Toetas ared (B) weggdred

(C) T3 feli area (D) 39§ s Tl

The correct relation between Theoretical Oxygen Demand (TOD),
Biochemical Oxygen Demand (BOD) and Chemical Oxygen Demand
(COD) is

(A) TOD >BOD > COD (B) TOD > COD > BOD
(C) COD > BOD >TOD (D) None of these
agif~is AT TfT (TOD), SeErf—e JAfedis T (BOD) 3R T&™—6
JATFIIS | (COD) = i Wl ara9 3

(A) TOD >BOD > COD (B) TOD > COD > BOD
(C) COD >BOD > TOD (D) 0 O His &l

The pathogens can be killed by

(A) Chlorination (B) Nitrification

(C) Oxidation (D) None of these
YYISH ! WA fohaT ST Tehall 8

(A) FARTH gRT (B) TgSIitheheM gl

(C) TSy g (D) 3T ¥ IS Tl
Standard BOD is measured at

(A) 20°Cand 1 day (B) 20 °C and 5 days
(C) 25°Cand 1 day (D) None of these

A< BOD

(A) 20°CW 3R 1 fead (B) 20°C W3R 5 fea @
(C) 25°CH 3N 1 fead (D) A S A& H

If BOD of a town is 20000 kg/day and BOD per capita per day is 0.05 kg,
then the population equivalent of town is

Ff¢ T R %1 BOD, 20000 kg/fe 3 wfd =afed wfa fé1 BOD, 0.05 kg 8,

TR ! TTHET e &

(A) 1000 (B) 4000 (C) 400000 (D) 10000
Weakest section in a fillet weld is

(A) Throat of the fillet (B) Smaller side

(C) Slde parallel to force (D) None of these

fthete OIC'S H a8 HOIR TRH &

(A) Theie &1 %3 (B) ®IKIHES

(C) & % GHT<H 9SS (D) ¥ ¥ IS &l
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89.

90.

91.

92.

93.

94.

Is stress in a material is 10 N/mm? and corresponding strain is 5 units then
the resulting value of Young’s modulus of elasticity is

(A) 2N/mm?>  (B) 5N/mm?> (C) 10 N/mm2 (D) None of these
fe fepeft wered 4 wfereet 10 N/mm? & 3R @ ferpfer 5 3978 &, d1 97 Seareran
TUTTeh <1 TIOTTHT /T 1T

(A) 2N/mm?> (B) 5N/mm? (C) 10N/mm? (D) 3 &I &l

Size of the right angle fillet weld is given by

(A) 0.707 * throat thickness (B) 0.414 = throat thickness
(C) Throat thickness (D) 2 =* throat thickness
UV fhele Jeg 1 ATHR 3T T ST &

(A) 0.707 x U3 =S (B) 0.414 x U3 =ieTs
(C) HU3 TTE (D) 2 x HU3 AT

Due to attack of dry rot, the timber

(A) Cracks (B) Shrinks

(C) Reduces to power (D) None of these
ST UL (&1) o JTSHHUT o HRUT AhE

(A) FehRdial (B) Fgpsdiz |

(C) =t & srgerh 2 | (D) 8 I Tel

If ‘P’ is the percentage of water required for normal consistency, water to be
added for determination of initial setting time, is

Ife P’ A MR & [T 3Tevdes It bl TTavid 8, IR SH T80
Trerior = foru foremen ST9 aTen S 8

(A) 0.70P (B) 0.75P (C) 0.80P (D) 0.85P
Early attainment of strength in rapid hardening cement is mainly due to
(A) Gypsum (B) Finer grinding

(C) Tri-calcium silicate (D) Tri-calcium aluminate

3T ShaRT Hieme © | < i TTfed 1 R &

A) TSam (B) ¥&H YN

(C) Ts-hicerm fafershe (D) 2TS-hicaay Ugfte

Which of the following stresses is used for identifying the quality of

structural steel ?

(A) Ultimate stress (B) Yield stress

(C) Proof stress (D) None of these

%Rtl-ll SEATA <hl TUTEITT hl T&aH o ToTt e ® & fohd Sfeet b1 ST foharm et
?

(A) <T@ gfqaa (B) e Hicset

(C) ST Ffdsel (I &H) (D) 38 & IS Tl
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95. A volatile substance added to a paint to make its application easy and
smooth, is known as

(A) Base (B) Solvent (C) Vehicle (D) None of these
U= & TN I HE IR b1 a9 o forw 38w amsasfier uered firemn
ST 8, 98 & .

(A) & (B) foems  (C) a@® (D) & 8 iE T

96. Pick up the correct statement from the following :
(A) The distinct plane of division along which a stone can easily be split, is
called natural bed of stone.

(B) The natural bed of sedimentary rocks is along the planes of
stratification.

(C) The natural bed of igneous rocks is not defined.

(D) All of the above

=1 4 1 98 A 1 =IE T -

(A) Tefasm =1 gues anda faeh A1 qek 1 ST € fave feram ST Fehdr
8, T I JTehideh al hadTdl & |

(B) TSHIE! I ol WThicIeh del SVl oh FHATH o |1 BIAT & |

(C) AT FHI 1 JTehiceh qa THHTNT T8l & |

(D) 3T Ot

97. For testing compressive strength of cement, the size of cube used 1s

HiH=e < e | o TET o foTT S o4 1 3TN &
(A) 50 mm (B) 70.6mm  (C) 100mm (D) 150 mm

98. Gypsum consists of

(A) H,S and CO, (B) CaSO, and H,O

(C) Lime and H,O (D) CO, and Calcium

oo & ffga 3

(A) H,S 3R CO, (B) CaSO, 3R H,0

(C) =1 3R H,0 (D) CO, 3R hicaam
99. Bitumen may be dissolved in

(A) Carbon dioxide (B) Water

(C) Sodium chloride (D) Carbon disulphide

fege foetRra &1 Tehdl 8

(A) I STEINATSS T (B) @ H

(C) wifeam FARTSS o (D) e SEHHIES U
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100.

101.

102.

103.

104.

10S.

106.

The ultimate tensile strength of structural mild steel is about
FTIHT TG ST ol TS O |19 &
(A) 160 N/mm? (B) 260 N/mm? (C) 420 N/mm? (D) 520 N/mm?

Bullet proof glass is made of thick glass sheet sandwiched by a layer of

(A) Steel (B) Stainless steel

©) ngh test plastlc (D) Chromium plate
el T8 hId $Heh! Td o SIS IS Shid 3T e ST ST B -
(A) (B) W@ &

(C) I W A (D) whIftRM wie
According to IS 399-1963, the weight of the timber is specified at
(A) 8% moisture content (B) 10% moisture content
(C) 12% moisture content (D) 14% moisture content

IS 399-1963 * JTHR, gl hl AR 30 ferffese Brem &
(A) 8% ™ (B) 10%Veli® (C) 12% S (D) 14% St

As per IS specifications, the maximum final setting time for ordinary
Portland cement should be
(A) 30 minutes (B) 1 hour (C) 6 hours (D) 10 hours

IS fafEeT = STFER, AYURTT Gidcive Wi o foTu stfeepan S1f~m géientor srafy
RIS
(A) 30 e (B) 1 v (C) 6Hwe (D) 109w

Which of the following bricks are used for lining of furnaces ?

(A) Over-burnt bricks (B) Under-burnt bricks

(C) Refractory bricks (D) First class bricks

&t St T o foru fr= o @ fopw <2 o1y fep ST B 7

(A) TeHSE  (B) JuSelise (C) fopselise (D) wom avfide

Seasoning of timber is done for

(A) Increasing moisture content (B) Decreasing moisture content
(C) Increasing strength of timber (D) None of these

ARl hl TehTS hl ST 2

(A) ST 9 o fotu (B) ST B & fetw

(C) THS HAMHTEHH T (D) 6 4 s T80

The main factor to be considered while preparing a detailed estimate is
(A) Quantity of the materials (B) Awvailability of materials
(C) Transportation of materials (D) All of the above

Toreqa 3T IR St % GRIF &I 1T ST aTaT I R @ -

(A) Treft Bt T (B) @Il hi IqASHT

(C) =mft o1 uftaga (D) 3l Tt

21 Code No. :C-396/2017/Series-A




107. Los Angeles testing machine is used to conduct

(A) Abrasion test (B) Impact test

(C) Attrition test (D) Crushing strength test
A TS e HefiA <61 ST TR ST &

(A) IrTeur wer o fere (B) e qeu o fou

(C) wadur wieor = fere (D) g amed qlieror & foru

108. When the bituminous surfacing is done on already existing black top road or
over existing cement concrete road, the type of treatment given is
(A) Seal coat (B) Tack coat
(C) Prime coat (D) Spray of emulsion
ST qd e Tagt fagu we s1eran iR foemm Hinwe i Tgs W faga
63 TRl 1T &, a1 T3 TR S9N Shagardl &
(A) YT & (B) 3ATESTh TR
(C) 37T T (D) sHRH fogh

109. The function of an expansion joint in rigid pavements is to
(A) Relieve warping stresses
(B) Relieve shrinkage stresses
(C) Resist stresses due to expansion
(D) Allow free expansion
3¢ UaH § TR 1 1 R & -
(A) =t gfaset ferem & foe
(B) Toshat fcreret femem < fotw
(C) TER % HRUT Yfdaet & Tfeiy o forg
(D) T JHR 3TAM & oy

110. The damp proof course (D.P.C.) is measured in
(A) cubic metres (B) square metres
(C) metres (D) None of these
HreA—Teh TgeT |7 ATaT & —
(A) gfied (B) @i d (C) i (D) 8 O His &l

111. If V is the design speed in km/hour and R is the radius of the curve of a hill
road, the super-elevation will be

gfe v Tt /aver § fesmea e 8 3T R fordlt wgTet g 6l ashar B 8, at

STEIe™ 81T

(A) e=V/I27R (B) e=V127R(C) e=V2225R(D) e=V/225R
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112. If cross slope of a country is 10% to 25%, the terrain is classified as
(A) Rolling (B) Mountainous (C) Steep (D) Plain
<l ST TUEl 10% © 25% &, T -9 i 38 &9 H ifiehe
IERIEEIGIES
(A) TR (B) T (C) Hfaymr (D) M

113. While calculating the sight distances, the driver’s eye above road surface, is

assumed

S21-gl <l TTUMT L o SR HSoh a8 8 FH =TeTh hl 3@ A A1 8

(A) 90 cm (B) 100 cm (C) 110 cm (D) 120 cm
114. Bottom-most component of a flexible pavement, is

(A) Sub-grade (B) Sub-base (C) Base (D) Base course

T YgH=C T Had f=ell e B -

(A) TE-Tg (B) ®E-3MgR  (C) &R (D) 3TMYR QT

115. The wall constructed for the stability of an excavated portion of a road on
the hill side, is known as

(A) Retaining wall (B) Breast wall

(C) Parapet wall (D) All of the above

%sls?l q13e 1 Uk o Ic@i-d el o TR o foru fafidq fafa <5 se@ s siman
(A) Wi fif (B) fufa

(C) wehR ffa (D) Tt

116. To obtain good bonding in brick masonry
(A) First class bricks are used
(B) Vertical joints in alternate courses are kept in plumb line
(C) Bats are used where necessary
(D) All of the above
32 ToATE 1 37=at wnfugn uTed 3 o foig
(A) g oft 2 =T 6 AT F |
(B) HIES {1 H Uhl-H GG H S o 18 W 14 ¢ |
(C) T&T 39 &, ¢ T4 fohu ST 2 |
(D) 3T Ot

117. Different grades are joined together by a
(A) Compound curve (B) Transition curve
(C) Reverse curve (D) Vertical curve
Tafr= I =1 39 g1 91y | Sl AT §
(A) Tazas (B) @hmuiash (C) Uldadiash (D) HeAier dsh
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118.

119.

120.

121.

122.

Contour interval is

(A) The vertical distance between two consecutive contours.

(B) The horizontal distance between two consecutive contours.
(C) The vertical distance between two points on same contour.
(D) The horizontal distance between two points on same contour.
U 3T o

(A) Tl SFHTT THTE o ST ST gl

(B) < SREWTA GHATE o &=l &ifert gt

(C) wwH = W gl fogal & sie Heaien gl

(D) |HH T = R ) fogati o o= &fast gff

Rankine’s theory of active earth pressure assumes

(A) Soil mass is homogeneous, dry and cohesionless

(B) Ground surface is a plane which may be horizontal or inclined
(C) Back of the wall is vertical and smooth

(D) All of the above

Tk —Tel 1 {hT3 THGT Tl &

(A) T Hafd gurt, I 3T FEHEH 3 |

(B) Y-Hdg T9Ad & Al &l YT 37 &1 Tehell & |

(C) Turfd =1 qse Heater 3R faerT BT 2 |

(D) 3uerd |t

During seepage through a soil, direction of seepage is always

(A) Parallel to equipotential lines

(B) Perpendicular to stream lines

(C) Perpendicular of equipotential lines

(D) None of these

e & e o g, T <6 e s -

(A) THfYd — @1 TR B & | (B) ORI W@ o oTFiad aidi 2 |
(C) g @ S a=adadiz | (D) 394 9 HiS T8

Himachal Pradesh is located in the

(A) Eastern Himalayas (B) Northern Himalayas
(C) Southern Himalayas (D) Western Himalayas
TeuTaret e STafedd 8

(A) i feaerm  (B) ol femrem (C) efeft feumer (D) wfvendt faumer

The lake ‘Manimahesh’ 1s located in which district of H.P. ?

(A) Chamba (B) Kangra (C) Kinnaur (D) Mandi
‘aforee it femmarer Jew & form forei 1 foa B 7

(A) =T (B) TSl (C) TR (D) Hue

Code No. :C-396/2017/Series-A 24



123. ‘Arjikiya’ was the Vedic name of the river

(A) Satlyj (B) Beas (C) Ravi (D) Yamuna
‘FififeRar’ 39 ¢ w1 Afch T R -
(A) Fags (B) =& (C) T (D) g

124. The altitude of ‘Rohtang Pass’ is
(A) 3740 mts. (B) 4520mts. (C) 3978 mts. (D) 3756 mts.

TUgdm gt i HdTs &
(A) 3740 (B) 4520 (C) 3978HiX (D) 3756 Hit

125. Shivapuri springs are located in

(A) Kinnaur (B) Mandi (C) Sirmaur (D) None of these

et e feora 8

(A) o= (B) et (C) fawik (D) 8 & g 7
126. Who founded Trigarta in the 13" century B.C. ?

(A) Vishwamitra (B) Brihangamuni

(C) Susharma (D) Devanamapriya

13 wraredt 3. g, BT <t v fope <t 2

(A) forgariter (B) F&mf

(C) g (D) CTTHRR
127. Who was the first Raja of Chamba to adopt the title of ‘Varman’ ?

(A) Meru (B) Aditya (C) Bala (D) Mahastambh

T’ T I G ST STAT LT ST TT TSAT i AT 7

(A) T® (B) affee (C) Tl (D) TR

128. ‘Audambara’ in modern period refers to
(A) Kinnaur (B) Lahaul (C) Sirmaur (D) Pathankot
3nyfres THa ¥ ‘e’ forad aefifa @ 7
(A) =i (B) @& (C) T (D) USHHIE

129. Who led the Suket Satyagraha in 1948 ?

(A) Sada Ram Chandel (B) Sita Ram Sharma
(C) Sukh Ram (D) Padam Dev
1948 T Gehd HATIE o Aqd TR ThaT ?

(A) e T < (B) i T st

(C) gET™ (D) weu ¥
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130.

131.

132.

133.

134.

135.

Kinners are

(A) Hunting tribe (B) Pastoral tribe

(C) Nomadic tribe (D) None of these

P g

(A) TR Seefa (B) TR ST

(C) GA= STl (D) 37 & 1S TE

‘Manu’ temple in H.P. is located at

(A) Manali (B) Bhushahr  (C) Gasota (D) Shanshar
femTaet wew H ‘wg Al srafea 2 -

(A) AT (B) SRI&X (C) T (D) TR

A sheep breeding farm in Hamirpur district of H.P. is at

(A) Tal (B) Lathiani (C) Deraparol (D) Ukhli
femrarer gew & T fret # S yoe w fera @ -

(A) deTH (B) @i fid  (C) URd (D) 3@t d

Which company has won the coveted Indian Premier League (IPL) media
rights for 2018-23 ?

(A) Sony (B) StarIndia (C) Vivo (D) Adidas

ﬁgﬁmﬁ’f 3 2018-23 o fotu wrer=lt sfogem fifram i (IPL) & wifsan srfeer
?

(A) &t (B) ®rzfgar (C) sl (D) Tt

Konsam Ormila Devi has bagged a gold at 2017 Commonwealth Youth
weightlifting Championships. She is related to which weight category ?

Higy N &t 7 B doy JY Fefefen Sffrmafim 2017 § @l Sfdar g | 98
frg i g g=fRE g 7

(A) 44 kg (B) 57keg (C) 64kg (D) 49kg

The biennial joint maritime fleet exercise “SLINEX 2017 will be
conducted between India and which country ?

(A) Maldives (B) Bhutan (C) Singapore (D) SriLanka
3 -anfier Tge AT e “feemed 2017”7 9Ra 3R frm aw 6 = g ¢
(A) HRIE (B) M (C) fem (D) e
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136. The Union Environment Ministry has launched which Environment Quiz on
National Teachers Day ?
(A) Prakriti Khoj (B) Paryavaran Prerak
(C) Green March (D) Prakriti Paryavaran
%Wwﬁﬂ@aﬁw feem W TohE waIfeRr Iedl <1 STRISH
?
(A) Y@ (B) WEUIWS (C) WA AN (D) Shid FET

137. Which of the following airports has bagged the National Award for
‘Excellence’ in energy management ?
(A) Chennai International Airport
(B) Rajiv Gandhi International Airport
(C) Chaudhary Charan Singh International Airport
(D) Vijaywada International Airport
e 4 9 fopm Rare 3 ot gere | ‘s’ o fotw asd qrEenr 1 femam 2
(A) T8 TTEIFA TR |
(B) Tsiia TMeft ST TR |
(C) =erdt =wor fifg el Tl |
(D) TaSFaTeT SesHe TIUle |

138. Which State Government has launched Gyankunj e-class project ?
(A) Tamil Nadu (B) Punjab (C) Gujarat (D) Karnataka
fehH TS HTHR 3 FHSS §-FeATH Tioiere T fora1 & 7

(A) afbeHTg (B) UIE (C) T (D) HAlCH

139. Who has been appointed as the new Union Minister of Skill Development ?

(A) Alphons Kannanthanam (B) Anant Kumar Hedge
(C) Ashwini Kumar Choubey (D) Dharmendra Pradhan
fore T T wivre T waht o &0 8 e e e g 2

(A) 3TEHIE HATYUFH (B) 3T d PHR &S

(C) 3Afvat pAR =l (D) = g™

140. Who has become the first wicket-keeper in world cricket to effect 100
stumpings in One Day International (ODI) ?

(A) Peter Handscomb (B) Mahendra Singh Dhoni

(C) Dane Vilas (D) Luke Ronchi

Q%%ﬁ?ﬂﬂa FUSE T 100 T o arett faa fohohe T gt faehe—hIm obia
9T E ?

(A) et BvgEeiE (B) wes f&e drft

(C) < foretre (D) g T=h
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141.

142.

143.

144.

145.

146.

147.

The chief feature of Jainism is scrupulous to

(A) Truth (B) Seeking Knowledge
(C) Ahimsa (D) Meditation

S G ShT T R, & gfa fFremfss 2 |

(A) T (B) fomman (C) 3nfgan (D) &N
The accounts of the Kaling War is brought to us by the

(A) Rock Edict XIII (B) Minor Rock Edict I
(C) Pillar Inscriptions (D) Hiuen Tsang

it g o1 fator &6 ITed BT 3

(A) e X1 9 (B) oY Preer@ 19
(C) T AfeiE 9 (D) gAEMH

Kautilya or Chanakya was also known as

(A) Vishnubhuja (B) Vishnugupta

(C) Vishnukarma (D) Vishnusharma

HIfeeT TUGT IR bl 398 WY T STaT &
(A) fopge (B) fospd () fosgwmi (D) fersvpemm

The Rajatarangini composed by Kalhana in the 12% century, is our main
source on

(A) Post Gupta economics (B) History of medieval Kashmir
(C) History of Nepal (D) History of Assam

12 STaTect § shegul g Ward TSTariiTof 39N g&7 §id 3

(A) T SHLSTSEAT T (B) TEIHIGH HIHR o 3igTH I
(C) Ut o 3faard =1 (D) 37H o 3faa™ &1

Which was the first fort captured by Shivaji ?

(A) Shivner (B) Raigarh (C) Torna (D) Champaner

g AfimfEd uget for shie 91 o1 ?
(A) fEw (B) TIQ (C) dwrem (D) TR

In 1684, the British East India Company set up a printing press in

(A) Madras (B) Pune (C) Bombay (D) Surat
1684 H, fsifew $& sfugan serft 3 i S zenfua <6t
(A) T (B) g (C) == (D) ¥4

The first session of Indian National Congress consisted of

(A) 62 delegates (B) 65 delegates (C) 72 delegates (D) 76 delegates
TR USSR BT o T ATy § et

(A) e2ufafafa  (B) esufafafa () 72ufafafa (D) 76 fafafa
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148. What was the name of party formed by Motilal Nehru as C.R. Das ?

(A) Swaraj Party (B) Ghadar Party
(C) Indian National Army (D) Indian Independence League
HidTATe 8% 3T H.3TR. T8 g TIad UTel <hl =19 &R0 AT ?
(A) TS 9T (B) & Urei
(C) IR TS (D) R wrefiarn <fim
149. The Mahabharat and Mussorie Ranges are the ranges of the
(A) Lesser Himalaya (B) Shiwalik
(C) Aravali (D) Sahyadri

HETIA 3T T TeqHTeATd foheeh! JeauTaTd & ?

(A) ogfearerm  (B) Rmerfees (C) aett (D) Henfy
150. Which of the following rivers change its course frequently ?

(A) Kosi (B) Godavari (C) Damodar (D) Krishna

=1 5 9 S Hi 7<) IR 39T AT Seddl § 7

(A) I (B) el (C) THIX (D) FT

151. The largest reserve of Sal is found in the forests of the

(A) Nilgiri Hills (B) Aravallis
(C) _Eastern Peninsula %)) Dun Valley
| o Heliiersh & g8k a1 # T¢I
(A) i ggiear (B) 31l
(C) Teff s (D) o =
152. The largest quinine producing state of India is
(A) Tamil Nadu (B) Assam
(C) Bihar (D) Jammu and Kashmir
T <hl Gel1iereh forai 3cTeeh U9 & -

(A) dfeg (B) 3tEd (C) foEm (D) S 3R 9
153. What is the maximum number of members in a Tribes Advisory Council ?

(A) 20 members (B) 25 members (C) 28 members (D) 34 members

ST TetTgsh il Ui § Hewl shi tferehan G fehe 1 Bl & 7

(A) 20¥9cH (B) 25¥9cH (C) 2849cH (D) 3449cH

154. The Chief Election Commissioner of India holds office for a period of
(A) Six years
(B) During the pleasure of the President
(C) For six years or till the age of 65 years, whichever is earlier
(D) None of these
A o1 G&T TS 3T Teha1 7T b foTT I &t hian g ?
(A) Bga
(B) Tsgufe o JETQURI= dh
(C) ©% a¥ 31T 65 a9 hi 311Y T, S ¥ft TEA 2 |
(D) 98 T IS TE
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155.

156.

157.

158.

159.

160.

161.

Which of the following does not concern The Union Public Service
Commission ?

(A) Recruitment (B) Classification of Services
(C) Disciplinary Matters (D) Promotion

11 5 9 B 1 99 ik a1 TR § TG T8 § 7

(A) W (B) Tarat ot sffentor

(C) TIRMEN AT (D)

The National Commission for Scheduled Tribes (STs) submits its annual
report to the

(A) Parliament of India (B) Union Cabinet
(C) Ministry of Tribal Affairs (D) President of India
TSI STTEA STl TR 379 affes FTe SR ohidT 3
(A) YR hi HEE (B) 5 AEHUSH
(C) TSI AT T HATeTd (D) R  Tsgufa
Which of the following has an affinity for the haemoglobin in the blood ?
(A) Carbon monoxide (B) Carbon dioxide
(C) Ammonia (D) None of these
1 4 9 forem W 0 SHPcifeH o Uid ST gl & ?

(A) HTEH THIHTES (B) hTeH SEATHITES
(C) it (D) 3T & IS TEl

The filtering in the kidneys is done by
(A) Nephrons (B) Neurons (C) Alveolus (D) None of these
gk § I 39 gRI BT &

(A) A (B) A (C) Ufcaalie® (D) 98 & I3 &l

Vitamin A is found abundantly in

(A) Brinjal (B) Carrot (C) Maize grains (D) Onion bulb
A I HTAT | 9T AT 8
(A) sTH (B) TSR (C) TFRIIAN (D) I &g

Monazite is an ore of
(A) Zirconium (B) Thorium (C) Titanium (D) Iron
HITSITSE foheent 373&h & 7

A) TS=ifrm (B) oifem (C) <rgfam (D) 3T*RA

As ‘Fan’ is related to ‘Feather’, in the same way, ‘wheel’ is related to which ?

(A) Round (B) Car (C) Spokes (D) Rotation
58 yopr ‘T’ Tt @ Te’ ¥, 3H IR ufgan feud efRa R 2
(A) T (B) #N (C) 3m (D) =i
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162. In a code ‘PARADISE’ is denoted by ‘ARPAESDI’, then ‘DROWNING’ in
the same code is denoted by

(A) OWDRGNNI (B) OWDRNGNI

(C) OWDRNING (D) None of these

ferelt %2 § ‘PARADISE’ 1 ‘ARPAESDI” & gf=rd foha e g, a1 3¢t &%e |
‘DROWNING’ =i 39& = feram STam 2 :

(A) OWDRGNNI (B) OWDRNGNI
(C) OWDRNING (D) 8 © His &l
163. Please pay your bill.
(A) for (B) in
(C) off (D) No preposition is needed.

164. Synonym of the word ‘Zeal’ is
(A) enthusiasm (B) lukewarm (C) unwilling (D) pleasure

165. Antonym of the word ‘Vibrant’ is

(A) dull (B) lively (C) bright (D) None of these
166. Meaning of the Idiom ‘To cut someone short’ is

(A) to oblige someone (B) to assist someone

(C) to interrupt someone (D) to insult someone

167. <3I1@ G JaTal i 319 8
(A) flegemr  (B) BWHA  (C) BWEATN (D) EWIAI

168. <319 w1 fagtianelss vise 2

(A) T&W (B) & (C) <du (D) wHw
169. <1 $B & ST o 7w Teh I1eg B
(A) 39F (B) ¥ (C) wes (D) I

170. ATk’ ® G99 2
(A) =R 9E  (B) e (C) wgsiife (D) &%
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